MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786)315-2590 F (786)315-2599

NOTICE OF ACCEPTANCE (NOA) wwy.miamidade.gov/economy

Greenheck Fan Corporation
P.O. Box 410
Schofield, WI 54476

Scorz:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Contro! Section to be
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for gquality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHY may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Model EACA-601D Aluminum Louver System with Damper

APPROVAL DOCUMENT: Drawing No. EACA-601D, titled “EACA-601D”, sheets | through 10 of 10,
dated 08/22/2013, prepared by the manufacturer, signed and sealed by Chander P. Nangia, P.E., bearing the
Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved"”, unless otherwise
noted herein.

LLIMITATION: This louver has not been evaluated for compliance with the impact testing standard
ANSI/AMCA 540.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shali be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 16-0201.06 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

g MIAMI DADE COUNTY
L IPPROVED]

NOA No 16-1020.04

Expiration Date: December 5,2018
Approval Date: November 10, 2016
Page 1




Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS “Submitted under NOA # 13-0919-05”
1. Drawing No. EACA-601D, titled “EACA-601D", sheets 1 through 10 of 10, dated

08/22/2013, prepared by the manufacturer, signed and sealed by Chander P. Nangia,
P.E.

>

B. TESTS “Submitted under NOA # 13-0919-05”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of EACA-601D louvers,
prepared by Architectural Testing, Inc., Test Report No. C6839.01-602-18, dated
08/12/2013, signed and sealed by Shawn G. Collins, P.E.
2. Test report on High Velocity Wind Driven Rain Resistance per AMCA 550, prepared
by Architectural Testing, Inc., Test Report No. €6839.02-602-18, dated 08/12/2013,
signed and sealed by Shawn G. Collins, P.E.

C. CALCULATIONS “Submitted under NOA # 13-0919-05"
1. Structural calculations prepared by the manufacturer, dated 08/22/2013, signed and
sealed by Chander P. Nangia, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None,

F. STATEMENTS “Submitted under NOA # 16-0201.06”
1. Statement letter of code conformance to the 5% edition (2014) FBC issued by Chander
P. Nangia, P.E., dated 01/11/2016, signed and sealed by Chander P. Nangia, P.E.

“Submitted under NOA # 13-0919-05"

2. Statement letter of code conformance to 2010 FBC, issued by Chander P. Nangia,
P.E., dated 09/08/2013, signed and sealed by Chander P. Nangia, P.E.

3. No financial interest letter issued by Chander P. Nangia, P.E., dated 09/08/2013,
signed and sealed by Chander P. Nangia, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 16-1020.04

Expiration Date: December 5, 2018
Approval Date: November 10, 2016




NOTE: SECTIONS

!.
L .

DETAIL CALLOUT (TYPICAL)

DETAIL #

(BY OTHERS) AT THE HEAD/SILL
LOCATIONS FCR ATTACHMENT OF THE
CONTINUOQUS MOUNTING ANGLES,

OVERALL UNIT

§_
T
.
T L
>< SN
< L bbb
Z. T f_: t [§
% Z«-—Z )
g = i - Lo
& =
— () — gjj “
Lo "%
< L
>
=
[ L
| ! ;
- 1
1
MAY BE STACKED 60.0 MAX
VERTICALLY PERMITTING THERE IS SECTIDN \’\/IDTH
SUITABLE LOAD-BEARING STRUCTURE UNL IMITED L

‘f\‘w TR R AR

o

& ALSO @'OR

il

Y

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No. 16-1020.04

Explrat:on ' e12/05/2018

-' & Product Control

TYP. ACTUATOR LOCATION
{(LOCATION ALLOWED TO
VARY, MULTIPLE
ACTUATORS -PER SECTION

ARE ALLOWED IF NEEDED)

?RODUCi REWSED
Fiuitdrex Code

DATE

S R
- .
& ALSO.@ OR

CHANDER P NANGEA
| 7423 HOLLOW RIDGE DR,
HOUSTON, TX 77085
. FLORIDA PR # 21938

08/22/"3

OF 10

MES
1:24
SFEET NOL
Cal DRAWING NO,

.
—

DRAWN BY

ACA—B01D

" [SCALE

GRIEENRIECK

P.0.BOX 410 SCHOFIELD,

WISCONSIN $4476-0410
EACA—601D
ELEVATION

TITLE

mumuﬂﬁ«‘- on

ROt




ALTERNATE EDGE DISTANGE |

/O

ptmrem AL TERNATE EDGE DISTANCE

SEE PAGE 9 OF 10 FOR EDGE DISTANCE
AND EMBEDMENT REGUIREMENTS.

ALTERNATE MOUNTING

l

0.25 TYP FOR ROUGH QPENING SIZING,
0.563 MAX ALLOWED, SEE NOTES 1 & 2

SUBSTRATE OPENING HEIGHT, LOUVER ROUGH OPENING HEIGHT ——=
ACTUAL LOUVER HEIGHT, ACTUAL SECTION/SHIP HEIGHT

NOTE %:

@ ANGLE ORIENTATION N\ |, sasa £DCE __
, * - f N| QN JISTANCE i EMBEDMENT ANGE "
4} : .l { | <1
A s !
@ %
3

23

ACTUAL LOUVER HEIGHT, ACTUAL SECTION/SHIP HEIGHT ———

F=—— SUBSTRATE OFENING HEIGHT, LOUVER RQUGH OPRPENING HEIGHT ——

I
0.25 TYP FOR ROUGH QPENING SIZING,
0.563 MAX ALLOWED, SEE MNOTES 1 & 2

PROCUCT REVISED
swqiyﬂuﬂ!ﬂnlw

Wﬂo N

PRODUCT REVISED

as complying with the Florida
Building Code

NCA-No.
EXle’atan ) 3_ 1 2!05.{201 38

16-1020.04

59

1

m HEAD DETAIL

\2/ scaLe: 1:1.75

‘THE SUM OF THE MINIMUM GAP ALLOCATED TO EACH LOUVER SECTION AT

THE JAMBS MUST BE > 0.125 TO ACCOMMODATE POSSIBLE THERMAL MOVEMENT.

NOTE 2: END GAP MUST COMPLY TO SEALANT MANUFACTURE'S JOINT PERFORMANCE

RECOMMENDATIONS.

/2\ SILL DETAIL

f I 3 BEé ENT
0 il i} =| R
75 AMYERNATE .V .Ty A
EDBE DISTANCE b ~
@EE PEGE 9 OF 10 FOR EOGE DISTANGE ‘
AND EMBEDMENT REQUIREMENTS.
8 ALTé:DRg:EATE
6.0, LOUVER DEPTH WHEN DISTANCE
—=|  FLUSH W/ SUBSTRATE  |=— \ ALTERNATE
MOUNTING
EXTERIOR FACE ANGLE
QRIENTATION

w scaLe: 1:1.75

)
)
N o
ag T —
5 TR
O 2w
ey v |
w0 oy E L
=TS ¥ O
= ] - =
= | T <£
N S
%dc
g
W}
O b
oY —
@I; <C
S I
n| o Ll
EO — C)
v = O
U <5 I
W=zl P =
Saals @
@&3 < a3
Ll
-
<
]
% i
Led
- |
*4-..
=

R \1\“"““1,}’{1’

Approved ws camplyreg with the
Flovide Cogde -
Dae [P T0rE

NO, 4

Mwmz Prochact Cordirol
By £ '

~.




\ — ( [
A . L R M
- : 5 TED SILL OPTION: ik
HEAD FASTENERS FOR BOLTED HEAD OPTION: SILL FASTENERS FOR BOL 13 &
ILL
PLATE WELDED TO HEAD AND PLATE BOLTED TO JAMB PLATE BOLTED TO JAMB AND S § o e
: 9 | ;’F? X5 gg . 5
- - _3{——:: g0
@ x4 @ 5 i O R
0 g ™z <
jasl
Z§m‘_’_ = S{J
[83)
- A
Seds e
@gé %
Wes
SISz d —
a%zs O
1l
Myxz| < <9
@gg <€ -
@3 2 5
L] T
[
"
1/8 1 ~
" L D
&

3\ BOLTED HEAD, PROJECTED VIEWS propucrt REVISED m BOLTED SILL, PROJECTED VIEWS tomds i
5 scalE: 1:1.9 gs _tl::l)_mplgint? with the Florida w SCALE- _'E 1.5 fwumfﬁm , %;#fg?gw%
U NOA‘Ni 16-1020.04 :““ﬁ'ﬂc“:i 6-020) .06 Meinm{ Dagy Praciosct Cottrod

Expiration

Date 12/05/2018 spimtiopfus 1ZI0S12018 | By_
Miami—Da Product Control ‘ Mm Prodact Contmt

By




{ { (’ —
\;\\E
, ) | _ ‘ o
HEAD FASTENERS FOR WELDED HEAD OPTION: SILL FASTEN_ERS FOR WELDED SIll. OPT!ON: ol Q
HEAD WELDED DIRECTLY TO JAMB JAMB WELDED DIRECTLY TO SiLL E?g v —
’ 2
- 2 L | ©
- T Ny O ulj
(Fp)] L(?‘j =
@ /8l 4 ;—‘g :f ~ § é:
— | ' L 2B 6 BuWw
1
al
Sk "
O] %
‘ @[52}‘ |
. E"”ﬁ ) =
P =) — '8
- I ﬁ?é O
[:[n | @x% W0 3
@%8 <t( -
| GEE @ 5
1/8[/3 o= T L
Laf I
\ / 1/8],/70.75 /» A
1ol
e -
_}
[ )
Ej =
20 =

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 16-1020.04

S WELDED HEAD, PROJECTED Views — -Prtepppe 120092018

" By i T
W scale: 1:1.5 Miami-Dade Product Control

E_—l\
r

st ,‘fl
/é\ WELDED SILL, PROJECTED VIEWS

w scaL: 1:1.5

ra camplymg with the
ing Code

ida Byf
Dete 2/06 12015
MNOAK

Misri %3 Prostict Conseol
By .

F=




> o

J

== 4/BLADE END
a — “
NI .

ACTUAL SECTION/SHIP WIDTH

¢

ACTUAL LOUVER WIDTH,

025 TYP FOR ROUGH OPENING SIZING,

SEE NOTES 1 & 2

|

m JAMB, NON—DRIVE SIDE

@ scalE: 1:2

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 16-1020.04

e 12/05/2018

Expiration at

By - 4’ /

Miami-Dadé Product Control

M
&
N O
N — £
< =S s
@D\ < = L |y 9
o) g (W
. vl Q = [
148
=z
— 5%
o — < § [:JJ LEJ = <
v
_ ! (| g "
= i =) i
=] __;‘q—_‘ _
j: iy j[_ b d ml 1 v %E‘? =
\ | Iy 222 &5
: = = 9 Lok a0
{-;m e — L:[B < %32 = )]
K S wq-;—l O —
G — e %) O 1
2 : ﬂJ\U]XZ —
7 Y — L v @ﬁ%g I )
Geg o =
i) ] b
g ] >
i <
o
@) 2
0.25 TYP FOR RQOUGH OPENING SIZING, - " gg
SEE NOTES 1 & 2. &‘
=
VUHELTEE
0.25 TYP FOR ROUGH OPENING SIZING, OSSR B g,
SEE NOTES t & 2 “g;gsggnggd‘f@é
“:“U l'. k! a
FO5 Noozigss Y %
SUBSTRATE OPENING WIDTH, LOUVER ROUGH ORENING WIDTH - 5* A ‘kg
23 ; ?%g ; § .-'%’E 5
%o orEN RS
2’-‘?? SIONBL © o
. NoWr 5 Lttt
@ MULLION m JAMB, DRIVE SIDE 2013
\Sj SCALE; 1:2 @ SCALE: 1:2
Approved a2 complying with the
Florids Bajiding Code
' nn'ciamu ;5
NOTE 1: THE SUM OF THE MINIMUM GAP ALLOCATED TO EACH LOUVER SECTION AT Migeni Contro}
THE JAMBS MUST BE > 0.125 TO ACCOMMODATE POSSIBLE THERMAL MOVEMENT. By A

NDTE 2: END GAP MUST COMPLY TO SEALANT MANUFACTURE'S JOINT PERFORMANCE

RECOMMENDATIONS.




A\

®

\[]

m EXAMPLE ACTUATOR (MANUAL)
W scaLe: 112,25

EXAMPLE OF MANUAL QUADRANT ACTUATOR ASSEMBLY
NOTE: DAMPER MAY BE OPERATED BY A MANUAL
QUADRANT, AN ELECTRIC, PNEUMATIC OR OTHER TYPE

OF ACTUATOR. :

—%gg 305 (ONLY TF BOLTS NOT USED AND EM #35 IS ALUM.

N

ACTUATOR FRAME (ITEM #60) IS FASTENED
7O LOUVER FRAME AND/OR ITEM #61 BY

ITEM #38. - AN ADDITIONAL ITEM #38 IS
ALSO UTILIZED WHEN FASTENING EACH
END OF [TEM #61 TO LOUVER FRAME.

ITEM #35 TYP FASTENED TG HEM
#5 BY TWO BOLTS OR WELDED.

(ALTERNATE VIEW)

(XN
bitetets!

oot

\_QSEAL JAMB GUTTER
OPENING AT HEAD

SEAL JAMB GUTTER
OPENING AT HEAD

\_‘SEAL JAMB SCREW HEADS,

ONE AT EACH END CF SHL

m SEALANT, BY MANUFACTURER

N

\—SEAL ALONG LENGTH OF HEAD

6

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No. 16-1020.04

Expiration Date 12/05/2018

By
Miami—

e Product Control

scar: 1:2.25

M)
hand
N
o C
~ — N
b 00 I
i O
SEAL JAMB-SILL VERTICAL - : Loy 8
JOINT AT EACH END OF SILL O =
ON OUTSIDE OF JAMB e g
g e oo B <
b= g O
z TR | a
= 0= A I A
13 5 g W
a2
b I o
s]
Wz O
SIngZE =
“1 4 oy <L ¢n
ONE AT £ACH END AND ALSO ol — 2 =
AT CENTER OF ITEM #11 W~ 2 P
Wiz ¢ I <
@gm <f, Ld o
Gz @ F
<t (A o
VERTICAL SFAL EACH ENO OF Lol =
ITEM #11 ON INSIDE OF JAMBS e
><
A -
. SEAL JANB-SILL VERTICAL i} s
JOINT AT EACH ENO OF 3itL Pand
ON QUTSIDE OF JAMB ;-_«
“\\[““”fﬂ” .
,;\\‘\Q‘“‘e_ﬂ P. f:’f’ l’{,
AV :‘?,i, ""v‘,.';:_‘
§N‘:\%:-.‘\,\G ENSS"H'G} ‘ﬁ‘f—"
SEAL ITEM #11 SCREW HEADS, 5Oy 21638 “F e
_ONE AT EACH END AND ALSO 57 NeAR N2
ALONG WIDTH OF ITEM 11 =kt fw\% Nz
Z ol %“ o NE§S
?’ ’:ﬂ"- T -‘:'.
- L1 ‘w‘ =)
Y, SION aL e
N “Mrggaw
b 2013
Apptoved s4 complying witk the
PROSUCT REVISED e : Wil
us complying with she Florida D':e*d?Z zoc?% o
Huilding Code NOAA v
S R | My G
By : 745
S 4 L




. T
B 573 ol LOUVFR JAMB N
- UVER JA
LOUVER SILL 600515 ALUM & ®)
‘ v
600515 ALUWM. : S — |
0.19 B e L L O
B ompling with the Florida oL
Building Code 1.75 g |
NOA-No. 16:1020.04 . . 504 i S E& Nig o~ <
5 42 Expiration Date 12/05/2018 - | i 2= T =z OJ
= ? S E Yy R <
MiamiSD éi’roduct Contr ) L % 5??) C:F‘J g L
- 5.99 -
_ LOUVER_HEAD J ;j b1 : A2 :
\ 5063 15 ALUM. . | A\ %E? ;
J S 6.-}3 X g0
'— Mﬁi? %)
——{}=— 0.13 Loy o W
- R
. 7 76 ___l (_‘ - 500 ——— 0.44 iy 2 © O
. | 1.25 VARIES M=z 7
L @mu 0
| o } - 0.69 g B
5.16 oy Jl —=f 150 |=— _ o-
| 0.080 —{l=— .08 0
0.08 — |ty {OUVER MOUNTING ANGLE L]
Y ADJUSTABLE BLADE ECB1—16 ALUM. @ HEAD BLARE STOP w
- 6065—15 ALUM., (VARIES) ALUM. =
FIXED BLADE
4 - \\“gllilllu!!}”’
5OB3—15 ALUM. 0.13 == \\\\;;‘Q%;gg,, ﬁ'f%
\§ -“‘ Y &"'-,/%
—— %}E?NO . CUT LENGTH _»~ [l 0.50 $9% o210 "( E
[-— 4.58 ——ri VARIES f S%i §#§
— e 0.08 - 2 -0} i3
] ? o © T4) LINKAGE BAR 4%
O | 4T 954 . S5, PCS S
O " B 5 AT 0.38
VARIES 2.57 o ©0.25 TYP | ~— 0,25 TYP 213 ol
1 20.29 MAX ‘ o $0.29 MAX Jy . -
-l /\A/ PAINT HANG SLOT "_ 0.33 TYP MIN ' 00 O -
A voo © (OPTIONAL) | " EDGE OFFSET W 77 Aoty i
. yag
> HEAD BOLT PIATE e
(2) 5ot st wow SILL_BOLT _PLATE Py S
SiLL BLADE STOP - PIN LEVER _ARM -
755 5052-H32 ALUW. (15) oot S VER-ARM B,g%;@

(VARIES) ALUM.

ALL SHOWN DIMENSIONS ARE MINIMUMS

SS = STAINLESS STEEL
PCS = PLATED OR COATED STEEL

£




L - A foen
Q@\ @ @ 0.38 SQUARE ~
” N
Py Q@ | oo — 1§ | o5
(1 D e S pl
0| J i@ 1 - L 9
O z |
@ . =
M}@ @ ADJ BLADE PIN L g 00 B <
. - S5 PCS =) H z O
@ NON—DRIVE PIN s g - Ej
‘ o [V =T
ASSEMBLY NON—~DRIVE_PIN @ ORIVE PIN 2 2 & S
ASSEMBLY ASSEMBLY
L
no _
20.62 e 3 3D ] %dg & o
. - . . E—'_ | TN —
ﬁF—O'BB 5Q. 1L 0.38 sSQ@Q. @%“E = .
O < >
0.44 LONG i %Z’“ o 2z
] (=
@ PIN_ BUSHING SQUARE WASHER Wxz T 4@
S5 BRON/E, DELRIN 0.04 S5, PCS - 4 69 bo2gl <« T O
> &g 2 O
L 1o x —
f0.48 ) . a‘é
—] 0.32 4} 1.75 r«' . L &
o uy
- T " . r
Lot
{ | | m— 0,125 = v
@ JAMB SEAL =
0.007 SS EXACT SIZE/PROFILE DEPENDS
@ ADJ. BLADE SFEAL ON ACTUATCOR SETUP SELECTED \\\\\\g;gu;mj;%
- VINYL = SILICONE SNOERE a7,
ADJUSTABLE BLADE DRIVE LFVER SXWCENsg
un SS, ALUM, PCS S,/ Nozisas 3V E
= S
1.500 . Q__g
8,125 ST
L_1.50¢J—f °
ACTUATOR MTG. ANGLFE (OPTICNAL)
(SIZE AND MAT'L TYPE VARIES) ALUM.
' PRODUCT REVISED
. as complying with the Florida

ALL SHOWN DIMENSIONS ARE MINIMUMS
PCS = PLATED OR COATED STEEL
85 = STAINLESS STEEL

Building Code

NOA-No. 16-1020.04

Miami-Dad& Product Control

EETYITLII




3/8" POWERS WEDGE BOLT FASTENER TABLE

FASTENER NUMBER

S0A

1/4" TAPCON SCREW FASTENER TABLE

FASTENER NUMBER |

508

PRODUCT REVISED

as complying with the Florida
Building Code
NOA-No.

Expiration Dg

By o
Miami-Dade Product Control

16-1020.04

e 12/05/2018

DESCRIPTION 3/8° POVWERS WEDGE BOLT DESCRIPTION 1747 TAPCON W/ ADVANCED THREADFORM
SUBSTRATE NORMAL WEIGHT CONCRETE- CONCRETE MASONRY " CCHL) © SUBSTRATE CONCRETE DR CONCRETE MASONRY (CMU>
6 WIDE, GRABE M, TYPE II, COMCRETE: 3 KSI ACI 30t CONCRETE
MINIMUM 05 KsI LIGHT /MEBIUM/NBRMAL WEIGHT MINIMUM EMU: ASTM C90, 3 XSI GROUT FILLED,
: CMU CONFORMING 10T ASTM CS0, LICHT-WIGHT > 95 PCF, MEDIUM-WEIGHT ¥ 1i7 PCF
LS kST GROUT FILLED EDGE DISTANCE CMIND i N 1-1/2 IN 2-1/2 IN
EDGE DISTANCE CMIAD 2 IN 3N 1-i/2 1N 2N A5 B0 CORNER - o R
SLAR/BLOCK CORNER > 3 IN t-1/2 IN 5 IN DISTANCE (MIND
DISTANCE ¢MIND
PENE TRATION ¢MIN 1-3/4 IN
PENETRATION (MIND 2-1/8 IN 2-1/2 N ———
. LOUVER HEIGHT <IN SPAGIN
ANCHOR ANGLE END - -
TS TANCE . CHID ¢= (ANCHOR SPACINGY/213 {= (ANCHOR SPACING)/2+3 e : y
LOUVER HEIGHT CIN) SPACING (IND SPACING CIM) gg = 6 &
<
<120 & NOT ALLOWED NOT ALLOWED
<54 8 , 5
e ° s 8 . CONTINUDUS ANGLE TO LOUVER FRAME SCREW
(FASTENER = ITEM #235
LOUVER REIGHT <IN MAXIMUM SPACING (N .
, <120 375
LAG SCREW, SCREW, & BOLT W/NUT FASTENER TABLE o :
_FASTENER NUMBER S0c o060 S0E + DENETRATION 1S EQUAL TO OVERALL FASTEMER LENGTH FOR CONCRETE}CMU FASTENERS.
174" LAG 3787 LAG ) IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED BY THICKNESS OF SHIMS.
NESCRIPTION SCREW SCREW 1/47-20 SCREW OR BOLT WANUT
SUBSTRATE woaD STEFL ALUMINUM i
STRESSES 3,
MINIMUM G > 642 A36 STEFL OR FyX36 KSI s
EDGE DISTANCE (MINY 1IN 1-1/2 1IN 172 IN /2 N
CORNER DISTANCE - .
e 1IN 1-172 IN /2 1IN /2 IN
* - . 16GA 16Ga
PENETRATION® (MIND 2-3/4 N 006 T 3716 N AL
LOUVER HEIGHT <> SPACING ¢IND SPACING ¢IND SPACING <IN
<120 5 4 A
<96 4 .
<84 8 6 .
<72 6

9

I

o~ O

N — £
=t 00 v
< O
= L O

O S W0

% 0 %% ;M |Z 6
ZELL{ I %

ST R | <L
B E B
% %] ) L]

Mo

_J-—l
G
UG ”

U‘T L1}
Lol o o

D
E&"E '®) =
2l &

o1 | el
Goagl U
CE NI

.3 b g

L )
<L,
.
.LI-l
3
—
v

gt ONAL
Wvig _31%:%’ g

LT,

\\\\\ {)E—R B ’?f‘.‘s‘

A CENSE %

F o0
g 0 . Y

£ Noozmed Y %
5 ¢ I Y ke
2 0 o P &
= -5 % :g§

/f# i, E’\\\\,&

nmia.m?:' Cede

Dwe j2i05/ 2013
NGAY o
Miaai oduct Controt

J




o)
ITEM NESCRIPTION MATERIAL | NOTES 1 GENERAL NOTES: z @ —
L LBUVER HEAD ALUM 1. IT SHALL BE THE RESPONSIBILITY OF THF PERMIT HOLDER TO VERIFY THE = &S S
2 \LOUVER SILL ALUM STRUCTURAL INTEGRITY COF THE EXISTING STRUCTURE TO SUPPORT THE LOADS HiTE o
3 |LOUVER JAMB ALUM | MPOSED BY THE LOUVER ASSEMBLY. = a8 | S ~— (A
4 JLOUVER FIXED BLADE ALUM 4,87 SPACING - . ! _ Y —
5 LOUVER ADJUSTABLE ELABE ALUM 4.8 SPACING 2. THIS LOUVER HAS BE__N DESIGNED AND TESTED IN ACCORDANCE \LWTH = Ld g I__l_ O
DUVER MOUNTINE ANCLE - CONTINUOUS T = MIAMI=DADE COUNTY PROTOCOLS [AND QUALIFIED iN ACCORDANCE WITH THE = =
6 (LOUVER MOUN s i ALUM T HEAD & SILL ONLY CURRENT FLCRIDA BUILDING CODE (FBC) AND TEST PROTOCOLS,/STANDARDS]: O E O
ERRTTE TAS-201 (LARGE MISSILE IMPACT TEST) g
19 {icaD BLolt STUP  pRoDUCT REVISED AL UM TAS-202 (UNIFDRM STATIC WIND PRESSURE TEST) L s O <«
1 |SILL BLADE STBP a5 complying with the Florida ALUM . TAS—203 (UNIFORM CYGLIC WIND PRESSURE TEST) ALl ZFE — =T ¢
12 [HEAD BOLT pLaTg  Building Code LM NOT REGUIRED IF HEAD IS AMCA STANDARD 550-08 (HIGH VELOCITY WIND~DRIVEN RAIN TEST) A 5
: NOA-No. 16-1020.04 : WELDED DIRECTLY 10 JAMB QE |2 KM o o<C
NOT REQUIRED IF SILL IS WELDED| 3. THIS LOUVER HAS BEEN DESIGNED, TESTED, AND APPROVED TO WITHSTAND L@ g & < {1
13 {SILL BOLT PLATE ALUM DIRECTLY T 1AM - A g 8 5 S
T.IH JAME DESIGN PRESSURES OF UP TO AND INCLUDING +/—110 PSF. ¥
14 JLINKAGE BAR SS/PCS v
15 IPIN LEVER ARM SS/PCS CRIMPED 10 PIN 4, THE LOUVER MAY BE INSTALLED IN A LOCATION WHERE THE ROOM BEMIND TRE L
LOUVER IS NOT DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM OR THE N
ROOM WILL HOUSE NON-—WATER RESISTANT OR NON-WATER PROOF EQUIPMENT, O =
S0 10 x 129 MIN SCREW SS/PLS COMPONENTS, OR SUPPLIES. S| B IRELE
21 |R10 x 3/4 MIN SCREW, 4" MAX END DISTANCE SS/PCS 24" MAX O.C. ALONG BLABE STOP ' R Tl
22 {178 MIN DIA. RIVET, 4° MAX END DISTANCE SS/ALUMAPE 24 MAX O.C. ALDNG BLATE STOP 5. THE MAXIMUM SINGLE SECTION SIZE IS 80" WIDE BY 120" HIGH. THE MAXIMUM E ny @]%p‘f
23 [I/4-20 x 1 SLREW, 4" MAX END DISTANCE SS/PCS SEE FASTENER TABLE OVERALL/ASSEMBLED SIZE IS UNLMITED WIDE (BY USE OF MULTIPLE SECTIONS OF | % | Eug
24A [1/4-20 % 5/8 LONG MIN BOLT W/ FLANGE NUT SS/PCS AT HEAD AND UNDER SLUPED SILL| 60" WIDE DR LESS) BY 20" HIGH. SECTIONS/ASSEMBLIES MAY BE STACKED = “hl o
248 1/4-20 x 7/8 LONG MIN BOLT W/ FLANGE NUT SS/PCS AT SILL ABOVE SLOPED SILL VERTICALLY PROVIDED THERE IS SUITABLE STRUCTURAL SUPPORT (DESIGNED AND zZ %Sz =
25 004 % 174 x 5/8 WASHER ’ <SS /PCS \{QSTALLED BY (FHERS) EO SUPPORT TALL LOADS TRANSFERRED FROM THE LOUVER m Mﬂ Ry 8 &
26 |NON-DRIVE PIN ASSEMELY VARIOUS HEAD AND/OR SILL TO THE SUBSTRATE. Ld =z ; —
27 |NON-DRIVE PIN ASSEMBLY VARIOUS ALLOWED TO REPLACE ITEM 26 _ . S {RE a0 O
6. ALL WOOD SUBSTRATE SHALL HAVE SPECIFIC GRAVITY (G) > C.42. ;| <L
28 IDRIVE PIN ASSEMBLY VARIOUS ALLOWED TO REPLACE ITEM 26 H RV ©) 2 > Gz © =
29 |ADJUSTABLE BLADE PIN SS/PCS 7. ALL STEEL STUD SUBSTRATE SHALL BE MIN 18 GA, FY > 36 KSI. o ﬁ
30 |PIN BUSHING SS/BRONZE/DELRIN .
3 74 E-CLIP SS/PCS 8. ALL STRUCTURAL STEEL SUBSTRATE SHALL BE MIN 3/18" THICK, FY = 36 KSI.
32 [7/32 £ CLIP SS/PCS . .
S, ALL CONCRETE SUBSTRATE SHALL BE RATED > 1.5 KSI OR > 2.5 KSI OR > 3
33 1/4 x 0.5 KNURL £iN S8/PCS PRESS FIT INTO PIN LEVER ARM | ke as \FJEEQUERED BASED ONi FASTENER TYPE USED. - -
34 0,04 x 3/8 SOUARE x 3/4 WASHER SS/PCS
35 |ADJUSTABLE BLADE DRIVE LEVER SS/ALUM/BCS 10. CONCRETE MASONRY (CMU) SHALL BE > THE FOLLOWING: 8" WIDE, GRADE N,
36 1/74-20 x 9716 BALL SWIVEL W/ NUT SS/PCS TYPE N, LIGHT/MEDIUM/NORMAL—WEIGHT CMU CONFORMING TO ASTM C90, AND (AS v
37 5716 DiA, LiNKAGE ROD S5/PCS REQUIRED BASED ON FASTENER IYPE USED) 1.5 KS! OR 3 ¥S| GROUT--FILLED. ;"*"13‘3'}‘0“?"‘ gL
- iy . 5
I8 (#1032 x 5/8 THREAD STUD M/ NUT SS/PCS 11, ALL ALUMINUM SUBSTRATE SHALL BE MIN 1/B8" THICK, WITH ALLOWABLE 3‘;\“\\\!\““’”“!m;,’, 5
STRESSES > THAT OF BOB3—T5. N A Ay,
40 |ADJUSTABLE BLADE SFAL VINYL/SILIEGNE QS‘?:%‘. s fﬁf@i«,
41 |JAMB SEAL : S8 12, LOUVER CONSTRUCTION: HEAD, SILL, JAMBS, AND BLADES ARE SQUARE CUT AT F Sen%%
47 |SEALANT AND BACKER ROD VARIES NOT BY MANUFACTURER BOTH ENDS. FIXED AND ADJUSTABLE BLADE SPACING IS 4.8". FiXED BLADES ARE _::5 0;-' 5 B ’::-_
SECURED TO THE JAMBS WITH (4) SCREWS PER ELADE END, ADJUSTABLE BLADES .4 L B
= = ARE SECURED TO THE JAMBS WITH (1) PIN PER BLADE END. EACH JAMB IS 5‘»‘1'(# ot~
S04 |3/8 POWERS WEDGE BOLT SS/PCS SEE FASTENER TABLE = 7 : g
= = SECURED TC THE SILL WITH {1) SCREW AND TO THE HEAD WITH (2) SCREWS. THE EP, Y =
508 Jl/4 TAPCON W/ ADVANCED THREADFORM SCREW SS/PCS SEE FASTENER TABLE HEAD 1S ALSD SECURED O T(H% TAVE WITH (4] BOLTS PER HEAD< E)ND O WELDED ‘é% L STATEOF JWr§
SOC 174 LAG SCREW SS/PES SEE PASTENER TABLE DIRECTLY TO THE JAMSS. THE SILL IS ALSD SECURED TO THE JAMB WITH (3) % G AL grohe S S
S0 |3/8 LAG SCREW SS/PCS SEE FASTENER TABLE BOLTS PER SILi END GR WELDED DIRECTLY TO THE JAMBS. R ST
SOE |1/4-20 SCREW DR 1/4-20 BOLT W/NUT SS/PCS SEE FASTENER TABLE Velr “, STONAL B
13. INSTALLER TO PROVIDE SEPARATION OF DISSIMILAR MATERIALS AS REQUIRFD. F o s
SiA [CONCRETE, 15 OR 3 K&T CONCRETE NOT BY MANUFACTURER SEE FL BLDG CODE SECTION 2003.8.4 FOR DETAILS, e
518 |CMU, 15 OR 3 KSI GROUT FILLED CONCRETE NOT BY MANUFACTURER
= = 14. ALL STAINLESS STEFL (SS) AND PLATED OR COATED STEEL (PCS) PARTS
SIC |STRUCTURAL STEEL, 3/15 35 KSi STEEL NOT BY MANUFACTURER PROVIDED BY MANUFACTURER ARE INHERENTLY CCRROSION RESISTANT OR HAVE A
SiD STEEL STUL, 16GA FY 36 Ksi STEEL NOT BY MANUFACTURER CORROSION RESISTANT COATING.
S1E (WOHD, G G42 wOOT NOT BY MANUFACTURER PRDDUCTREY&B
SIF_[ALUMINUN, 1/8 6063-15 ALUM NOT BY MANUFACTURER 15; STEEL/STANLESS STEEL/ALUMINUM PARTS WAY BE MADE OUT OF ALTERNATE Frofiding Cod
52 |INCOMPRESSIBLE SHIM, OPTIONAL, AS REQUIRED VARIES NOT BY MANUFACTURER L ' FOUAL OR 6 TIELD STRENGTH.
B s TEM_TABLE NOTES:
: JP— - n VARIES, NOT ALWAYS BY PCS = PLATED OR COATED STEEL
g Jat ] MR L 3 {
€0 ACTUATOR, COMPONENTS VARY AMONG TYPES VARIES HANUF ACTURE D S STANLESS. STEEL
o1 |ACTUATOR MOUNTING ANGLE (MAY DR MAY NOT AL UM BY MANUFACTURER WHEN AlL SHOWN "DESCRIPTION” DIMENSIONS ARE MINIMUMS. FLANGE NUT
BE REQUIRER BASED ON ACTUATIR MOUNT TYPE> i MANUFACTURER MUOUNTS ACTUATOR | ALLOWED TO BE REPLACED WITH A STANDARD NUT AND WASHSR.




